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These questions are for use in the Virginia High School League’s Scholastic Bowl competition at the District level. Shawn Pickrell, Marian Suter, Adam Fine, Chris Moretti, Susan Gallaher, Ross Irwin, Jason Mueller and Fred Morlan are the authors of these questions.

Districts must observe the following conditions, which must be known by all coaches, competitors and spectators of the competition:

(a)
Release of these questions to any entity not affiliated with the District competition or the schools that are members of the given District, without prior approval of Shawn Pickrell, is prohibited. This is meant to keep question security.

(b)
The discussion or other reference to these questions with other entities in the Commonwealth of Virginia that are associated in any way with the Scholastic Bowl competition before all District champions have been determined is prohibited. This is also meant to keep question security.

(c)
These questions may not be released AT ANY TIME to entities outside the Commonwealth of Virginia, except with prior approval of Shawn Pickrell. Discussion of these questions, however, is permitted between entities within and without the Commonwealth of Virginia This will apply to ANY entity in the Commonwealth of Virginia that receives these questions, be it directly from Shawn Pickrell or indirectly through various means.
First period: 15 tossups
1.  THIS IS A COMPUTATION QUESTION. A two by two matrix has top row elements 10 and -20.  The bottom row is 8 and 4.  What is the determinant?

ANSWER: _200_ (40 - -160)

2.  His essay _The Education of Women_, in which he advocates their higher education, indicates he was far ahead of his time.  Who is this man best known in his day as a journalist but remembered today for his novel _Robinson Crusoe_?

ANSWER: Daniel _ Defoe _

3.  Although river channels typically cut down into the surface, this type of riverbed stands above the surface.  It forms as water flows under a glacier, depositing sediment beneath the river and thawing the ice above it.  Name this sinuous ridge that occurs in formerly glaciated landscapes.

ANSWER: _esker_

4.  This country has caused Presidential candidates trouble during debates. In 1976, Gerald Ford insisted this country was not under Soviet domination, a gaffe that probably cost him the election. What is this country that George Bush pointed out that John Kerry forgot when he was naming American allies in Iraq?

answer: _Poland_

5.  Spencer Gore won the first championship held here in 1877, defeating 21 other contenders.  A women's event was added in 1884, while Helen Wills Moody won eight titles in the 1920s and 1930s, a record that stood until Martina Navratilova broke it in 1990.  What is the name of the Lawn Tennis championship held every June and July in Britain, now and forever marred by a bad movie starring Kirsten Dunst.

ANSWER:  _Wimbledon_

6.  This can occur due to either a mistake that jeopardizes one party's right to a fair trial, or to a hung jury. What is this word that describes a trial that ends prematurely without a judgment?

answer: _mistrial_

7.  It features over 2400 questions in the following categories:  Oops, Wired, Viewing, Trends, Important, and Hangin.'  On side two of the game board, players can take a trip through the decade without being the first one to get the Y2K bug at the end of the board.  What is this special edition of a popular trivia game that allows players to long for the wonderful decade that ended five years ago?

ANSWER:  _Trivial Pursuit:  1990s_ Time Capsule Edition

8.  This Richmond native's latest book came out on November 9. The book, "I am Charlotte Simmons," traces a North Carolina girl's journey through college. Who is this man, also known for "A Man In Full" and "Bonfire of the Vanities?"

answer: Tom _Wolfe_ 

9.  It is a term applied to a trend in philosophic thinking toward emphasis on reason and intellect over emotion or imagination. What is this term, which applies to the thinking of Aristotle as well as Descartes (day-kart), Spinoza and Leibnitz?

ANSWER: _ Rationalism _

10.  What name is given to the location in a block of code to a stopping point put in temporarily by a developer to test and debug the code?

answer: _breakpoint_ 

11.  He accidentally smothers his white employer's daughter and deliberately kills his girlfriend to silence her. Name the young African-American imprisoned for these two murders in Richard Wright's _Native Son_.

ANSWER: _ Bigger Thomas _

12.  He led 2,000 US soldiers on a 1,000-mile chase across the mountains of Oregon, Washington, Idaho and Montana for over three months in 1877. Who was this chief of the Nez Perce [pair-SAY] who said the words, "From where the sun now stands, I will fight no more forever?"

answer: Chief _Joseph_

13.  Name the nucleic acid found in the ribosomes.

ANSWER: _rRNA_ or _ribosomal RNA_

14.  His father, Talal, ruled for only a year before being forced aside due to schizophrenia. In 1994 he signed a peace treaty with Israel. In 1970 he forced the PLO out of his country. Who ruled Jordan between 1952 and 1999? 

answer: King _Hussein_ ibn Talal

15.  In the Anglican, Orthodox and Catholic Churches, they read the Gospel and assist the priest in administering the Eucharist. What is this Christian church office that in the Baptist church performs financial management and giving aid to the poor?

answer: _deacon_

Second period, 10 directed questions per team

Questions with an “A” after their number will be read to the team that selects set A of questions; questions with a “B” after their number will be read to the team that selects set B of questions.

1A.  At 12,507 feet in elevation, Lake Titicaca in South America is the world’s highest navigable lake.  The lake is located on the border of what two countries?

ANSWER: _Bolivia_ and _Peru_

1B.  What coiled serpent, the son of Gaia, haunted the caves of Parnassus until Apollo used arrows to slay him?

ANSWER:  _Python_

2A.  What 1911 opera by Bela Bartok features only two characters: the title nobleman and his wife Judith?

ANSWER:  "Duke _Bluebeard's Castle_" 

2B.  Name the American short story, set during the American Civil War, in which Peyton Farquhar dies from a broken neck after being hanged.

ANSWER: _ "An Occurrence at Owl Creek Bridge" _

3A.  What American naval commander said "We have met the enemy and they are ours" after winning the Battle of Lake Erie in 1813?

answer: Oliver Hazard _Perry_

3B.  He developed the kinetic theory of gases, which explains the physical properties and nature of a gas, and investigated color vision and the principles of thermodynamics. Name this British physicist for whom the CGS unit of magnetic flux is named, and whose research and writings explain the properties of electromagnetism.

ANSWER: James Clerk _ Maxwell _

4A.  THIS IS A COMPUTATION QUESTION. What is the solution to the equation the cube root of quantity x plus three equals 2?

ANSWER: _x = 5_

4B. If two parallel lines are cut by a transversal, the measure of any pair of the eight angles formed has one of two relationships.  What are the two possible relations between the created angles' measures?

ANSWER: _congruent, supplementary_ (accept equal for congruent)

5A.  In what Joel Chandler Harris animal tale does Brer Fox place a sticky figure along the roadside in order to even a score with his archenemy Brer Rabbit?

ANSWER: _ "Tar-Baby" _

5B.  What word is used by psychologists to describe the channeling of negative emotions into acceptable behaviors, a word also used by chemists for a different meaning?

answer: _sublimation_

6A.  THIS IS A COMPUTATION QUESTION. How many square inches are in a square yard?

ANSWER: _1296_

6B.  The Mozilla Foundation released the first official version of -- what open source web browser in November?

answer: _Firefox_

7A.  The towns of Warm Springs and Hot Springs are located in -- what rural Virginia county that is the site of the Homestead Resort?

answer: _Bath_ County

7B.  Both you and your sibling have attached earlobes, yet your parents have unattached earlobes. Unattached earlobes are dominant(A) [big A] over attached earlobes(a) [little a]. What are the genotypes of your parents? 

ANSWER: _Aa_ (both parents)

8A.  THIS IS A COMPUTATION QUESTION. What volume of gas, in liters, would 1.5 moles of hydrogen occupy at STP?

ANSWER: _33.6_ liters

8B.  During the Middle Ages, it was the compensation paid by a murderer to the relatives of the victim, its value dependent on the social rank of the deceased. What is this term from Germanic law?

ANSWER: _ Wergild _ or _ wergeld _

9A. Name the Rudyard Kipling short story about a pair of comic adventurers who briefly establish themselves as godlike leaders of a native tribe in Afghanistan.

ANSWER: _ "The Man Who Would Be King" _

9B.  What 18th century British pottery maker turned the Ivy Works into the world's first true pottery factory?

answer: Josiah _Wedgwood_

10A.  "American Idol" winner Kelly Clarkson "spreads her wings and learns how to fly" in what 2004 hit song off of "The Princess Diaries 2" soundtrack?

ANSWER:  _"Breakaway"_

10B.  THIS IS A COMPUTATION QUESTION. What is the decimal number 43, expressed in octal?

ANSWER: _53_ (Five-Three or fifty-three)

Third period, 15 toss-ups
1.  This country was called the Trucial States before independence in 1971. Attempts were made to include Bahrain and Qatar, but they failed. What is this country on the southeast of the Arabian Peninsula, whose capital is Abu Dhabi?

answer: the _United Arab Emirates_ or _UAE_

2.  TWO ANSWERS REQUIRED. The reaction of an acid and a base always yields two things. Name them.

ANSWER: a _salt_ and _water_

3.  The trial of former President Michael Ovitz is challenging -- what company which shrugged off a Comcast takeover and is facing the retirement of CEO Michael Eisner?

answer: Walt _Disney_ Company

4.  Sand dollars, sea urchins and star fishes all belong to -- what phylum of marine animals?

answer: _echinoderm_s or _echinodermata_

5.  She killed her own brother to assist her husband's escape from Colchis, and then got the daughters of Pelias to kill their own father. After being abandoned by her husband, she then proceeded to kill her husband's new wife, her husband's new father-in-law and ultimately her own children. Who is this Euripides title character and husband to Jason?

answer: _Medea_

6.  _The Canterbury Tales_ by Chaucer, _The Thousand And One Nights_, and the _Decameron_ by Boccaccio are all example of this type of story, in which one or more tales are related within an overall unifying story. What name is given to this literary device?

ANSWER: _ Frame _ story

7. THIS IS A COMPUTATION QUESTION. f of x equals x minus three quantity squared minus five.  {f(x) = (x-3)2 + 5} What is the range of f of x?

ANSWER: y is an element of the reals, _y is greater than or equal to five_

8.  A few days after winning a surprise victory at Trenton on December 26, 1776, George Washington was able to surprise another small British garrison at -- what central New Jersey town that was -- and still is -- the home to a famous university?

answer: _Princeton_

9.  A.J. Gabriel designed the opera house on the grounds of this palace.  Two smaller palaces, both named Trianon, are found within its gardens, designed by Andre Le Notre (NOH-truh).  Charles Le Brun was responsible for the interior, including the Hall of Mirrors, of what French palace, commissioned for the architect Louis Le Vau by King Louis XIV?

ANSWER:  _Versailles_ (ver-SY) Palace

10.  What sex chromosomes are found in a male?

ANSWER: _xy_

11. TWO ANSWERS REQUIRED. Given these two formulas for the same compound: CH2 and C3H6, in the order given -- what two types of formula do they represent?

ANSWER: _empirical and molecular_ formulas (in that order)

12.  This 7th century BC Ionian Greek was the first to attempt to explain the world in physical -- not spiritual -- terms, saying "All is water." What Ionian Greek can be considered the father of science, as well as the founder of Western philosophy? 

answer: _Thales_

13.  What is the term for a noun that in the singular denotes a group of similar members, such as committee, crowd and class?

ANSWER: _ Collective _ noun

14.  The townspeople think the title character will persuade Homer Barron to marry her but he says he isn't the marrying kind. These characters are found in what William Faulkner short story, in which a gray hair is found on a pillow.

ANSWER: _ "A Rose for Emily" _ 

15.  His wife's cousin was Kaiser Wilhelm. In 1905, a revolution forced him to allow a national assembly, or Duma. His son, and only heir, also suffered from hemophilia. Defeat in World War I was all it took to remove -- what last czar of Russia?

answer: _Nicholas II_

Spare questions 
(Try to replace the question discarded with the spare question in a subject area – i.e. science for science, social studies for social studies, etc.) Be sure to mark off the questions as they are used.
1.  Twenty-one different states have a town of this name within their borders. A Northern Virginia suburb, a major city in Western Massachusetts and the capital of Illinois all share -- what name with the fictional home of Homer, Marge, Bart, Lisa and Maggie?

answer: _Springfield_

2.  In Spanish, what is the first-person present indicative singular form of the verb, saber [sah-BEAR]?

ANSWER: _sé_ [SAY]

3.  Nobel Prizes in Physics were given in 1914, 1915, and 1916 for research into the diffraction and scattering of this type of electromagnetic radiation.  Name this phenomenon discovered in 1895 by Wilhelm Roentgen.

ANSWER: _x-rays_

4.  It premiered on January 29, 1728 at Lincoln's Inn Fields; the following year, its principal composer wrote a sequel called "Polly."  Robert Walpole is lampooned in this story about a fence named Jeremy Peachum and a Captain named Macheath.  What is this John Gay opera, the basis for Bertolt Brecht and Kurt Weill's "Threepenny Opera" 200 years later?

ANSWER:  "The _Beggar's Opera_"

5.  THIS IS A COMPUTATION QUESTION. What is the range of the function expressed by y = cos ax + b? 

answer: _y is an element of the reals between b-1 and b+1_ inclusive (b minus 1 and b plus 1)
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